R 43 -900
Spruhgerat

Spruhgerét / Vaporisateur / Spray unit B 8-10.2007



R 43 -900
Spruhgerat

Pos.
01
02
03
04
05
06
07
08
09
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39

Bezeichnung
Spruhgerat kompl.
Spruhdiise kompl.
Spruhdise

Draller
Kernlederdichtung
Gewindenippel
Druckfeder
Dusennadel
O-Ring
Kernlederdichtung
Schlauchanschluss

Gelenkschlauch, kompl.

Dusenhalter
Sechskantmutter M 10
Schlauch 1.45 m
Deckel kompl.
Anschlussmutter
Sechskantmutter M 6
Zylinderstift 5x25

Griff

Hebelbock

Hebel

Zugbolzen

Halter mit Bride, kompl.
ISK-Schraube M 6x40
Bride

Haltestuick
U.-Scheibe M 6
Druckfeder
Kolbenstange

O-Ring

Dichtung
Uberwurfmutter

Kugel

Ventilkdrper, kompl.
Sechskantmutter M 6
Kolben

Dichtung

Behalter

Art. Nr
752.900
2015136
672015015
3015053
6490294
4015072
634015081
672015133
6456832
6490295
4015089
3015138
752.905
P...4910
3015082
3015119
604015063
P...491 E
P...512J
4015145
4015117
3015144
672015147
2015084
P...486 Y
4711035
3015079
P...496 V
634015151
672015149
6456856
6495196
4015090
P..316 Y
3015150
P...491 E
4015068
6495361
4015113





